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Q.1 Choose the correct alternative answer for each of the following questions: 4
1)Ans. 5
= =x:—‘3

X
5=x(x2+3) has only vanable x but maximum
index is 3, so itis nit quadratic

x(x+5)=2 has only variable x and maximum
index is 2, soitis quadratic.

n-1=2n has only variable n, but maximum
indexis 1, soitis not quadratic.

&)
>

x+2=x? has only variable x but maximum
index is 3 soitis not quadratic. Option (B) is
correct
2) Ans. Astheroots of theequation x?+kx+k=0 are
real and equal.
SoA=b>4ac=0
Here, a=1.b=k. c=k
b2-4ac =(k)-4(1)k)
0=k2-4k
k(k-4)=0
k=0 ork=4
(C)is correct option

3) Ans. Option (A)is correct as

x2+4x=11+x2

x2-x2+4x-11=0

0 x2+4x-11=0

Here, a=0

But for a quadratic equation ax?+bx+c=0

a0
4) Ans. (b)

x2 + 2Vx — 3 = 0 is the only equation in which x has % as exponent whereas a quadratic equation

must have maximum power as 2. Therefore x + 2Vx — 3 = 0 is not a quadratic equation.

Q.2 Complete the following Activities
1) Ans. 1y the equation 9y* + 5= 0 is the only variable and maximum index of the
variable is

St s a quadratic equation.

4

2) Ans. In the equation m® - Sm* + 4 = 0| m |15 the only variable but maximum index

of the variable is not 2.

gl | a quadratic equation.

Q.3 Solve the following questions



DANS. 14 the equation 3x* - 5x + 3 = 0, x is the only variable and maximum
index of the variable is 2

.. It is a quadratic equation.

3
2)ANS- (i) Put x = 3 in the polynomial 2¢* - 7x + 6
242-7x+6=2(§]-7(5}+6
e
=2 XZ—%+6
9 21 12
:;-T+T=0

(S W

. x =7 is a solution of the equation.

(i) Letx=-2 in2x*-Tx + 6
22—~ 7% 36.=2(=-2) = 7(-2)+.6
=2x44+14+6

=280

~. x = -2 is not a solution of the equation.

3) AnNS. 3m2=2m?2-9
- 3m?-2m?*+9=0
-m?+0m+9=0
Comparing with the standard equationax?>+bx +c=0
a=1b=0,¢c=9

Q4 Solve the following questions

1) Ans. x*+5x=~(3 -x)
- x}+5x=-3+x
- x2+5x+3-x=0
- x?+4x+3=0
Comparing with standard equation ax?+bx+c=0
a=1,b=4.c=3

2) Ans. 63X +7x =3

6B +Tx-3=0

: 643 x-43 =-18
63X+ 9x-2x - 3=0 S

; 9/§2
S3Bx(2x +B3)-1(2x +3)=0 | B

: 9=33x.3

L(2x+PB)BBx-1)=0
S2x+3=00r 33x-1=0
2x=—\/3 or 3J§x=1

3 hi 2
x=—T or X = 3\/5
NEY

) 1
. -—-and 33 are the roots of the given quadratic equation.



